00000000 (Coooon) Jul. 7, 2010 (Wed.)

DDD R’000000000000 w(z,y) 0ODODOODOODOOOOOOO
gboboboooobbboooobboooon

Y x
) uey) = ( 7 )
(1) u(z,y) 2+ + U a2+ 2+ 1
Z Y
2) ) = ( 7 )
(2) u(z,y) R L N |

(3) u(z,y) = (sin(zy) + 2y cos(zy), 2” cos(zy))

gobobouoogon

e OO OUODDOODLOLUODLDODLOODLDDLDUODODDLDOUODDOOODD
gobobbobbougooobobbobobbboboddoooooobboobb
gbobobodoobbbtiomoobobuoooobobbooooboo

e OO UOOODLODLODOUODOUOOODDLDODUOUODLDDLDOOOOO
o IIDUUTXUDOODOOODOODOODLOODOODODODO

e JO0UOOODDDOUOOODLDDOOO

O000doooooooOoOWebOQOQoooono
o JUUOUOUOUOUILOULOULOULOULOULOULOULOUOOUOOODO
e Web O O O URLO https://fd-enquete.st.keio.ac.jp/

e l0DkeiojpUOUODOOODOODLDOODOOO



